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multiple / common multiple
factor / common factor
fraction
decima
decimal place
tenths place
hundredths place
thousandths place
percentage
discount
equilateral triangle
isosceles triangle
right-angled triangle
square
rectangle
rhombus
trapezium
parallelogram
pentagon / regular pentagon
hexagon / regular hexagon
polygon
circle / semi-circle
diameter /radius
centre of circle
sphere
cylinder / cone
prism / pyramid
cube / cuboid
net
section
symmetrical shape
line of symmetry
north-east / north-west
south-east / south-west
perimeter
circumference
area
base / height
upper base / lower base
capacity
volume
speed
travel graph
pictogram
bar chart
compound bar chart
broken line graph
equation



Paper 3

B

Hong Kong Attainment Test
BEERRER

(Pre-Secondary 1 & — A2 7))

Mathematics

Mock Paper 3 igf#stE (=)

Time allowed for the test: 50 minutes
BB L 5004

Instructions:

1. This test contains two sections:
Section A: Questions 1 — 30
Section B: Questions 31 — 36

Answer ALL questions.
Write your answers on the answer sheet.
Write your Name, Class and Class Number on the answer sheet.

A

You may do your rough work in the blank space of this test booklet and there is
no need to rub it out after the test.

6. The use of calculator is not allowed.

BAAM:
1. KRS B LA R0
V4125 304
T3 % 31 2% 36 4
. BERME AL o
A B AL o
S EILE L~ PER R IR o
LR ARRE 6 EQHSMIE R Rk A
O RVEAER AR

“>>r i

<) N, B U OVR
™o
n}"

RIHKAT (Pre-S1) — BRBHE281 (ONFR) - BiEESE= © BBHE HhRit



fe——f————————]
7cm 14 cm 7 cm

21. Inthe above figure, ABCD is a straight | 21. LB ¥  ABCD £ —4#% &4 * AD

line. AD and BC are the diameters of F2BC 8 2 8 X E e a@ e
tthe two ser.ni—circk:s respectively. What LHRIGARZS Y ? (Rok
1s the perimeter of the shaded part? )
(Take 7 as %) 7)

A. 66 cm A. 66 cm

B. 72cm B. 72cm

C. 80cm C. 80cm

D. 88cm D. 88cm

10 cm

15 cm

22. The above figure is a trapezium. | 22. EFBEZ—MEHE LI 50 G

cdlenge) What fraction of the white part is the rﬁ | AAG EHR s K 2
—J shaded part? —J

A 2 A 2
B. & B. &
c. = c. =
D. 4 D. 4

11



Seciiono (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

eﬁﬂ (40 %)

BRAFRITE RSN » ERIZEANEBRIER - A 5T
BEHER -

Rice cooker
$380

The above shows the prices of the
rice cooker and liquid detergent
in a supermarket. All appliances
were 20% off and holders of the
membership card were given 10%
off in addition. Also, spending each
$2.50 can earn one point.

31.

(@) Mr Lee wanted to buy a rice
cooker but he was not a member.
How much should he pay? (Give
the answer only)

[2 marks]

(b) Mrs Chan bought a rice cooker
and 2 bottles of liquid detergent
with her membership card. How
much should she pay?

[4 marks]

There were 556 points in total
in Mrs Chan’s membership card
after shopping. How many points
were there in her membership card

(©)

31.

Liquid detergent
AR
$49.50

Wb E AR e R
B ER o BT E SR AI
L& B FHBEETHANSTA A
AR B 3 B A S $2.50 1 B

A ARy o

(b) MR RKK#FEFEFHE 118
T A 2 LR RR R A
ESTN

[4 ]

(c) RRKEZRBME €8 F
WL 556 AR o dbEy &
FTRRAMS S Yo ? (RIA

originally? (Give the answer only) [2 %]
[2 marks]
NER - BEES (2) 16



Paper 3

TR

Hong Kong Attainment Test
BEERRER

Pre-Secondary 1 Mathematics
h— AZHHER

Mock Paper 3 #E#mE%E (=)

Answer Sheet ZRE#

Name
HE (English) (F32)
Class Class No.
iR : AT
Total Marks
e

Seciiono (60 marks) You only need to write down the letter preceding
the selected answer. (2 marks each)

@%B (60 B) =4 O/ FFRRERANRTZE - (BE29)

1. 6. 11. 16. 21. 26.
2. 7. 12. 17. 22. 27.
3. 8. 13. 18. 23. 28.
4. 9. 14. 19. 24. 29.
5. 10. 15. 20. 25. 30.

FIHHKAT (Pre-S1) — BREBHE281 (NFH) - BEHAE= © BRBEH A Lt



L Working steps must be shown in answering questions | Teachers use only
Section (40 marks) " in this section unless specified otherwise. HREEA
e%‘B (403 BRSRUEEASN - EEEAEES - ASIHHESR -
Marks
(=Fa)
31 (a).
He should pay $
oA AT R $ °
2
31 (b).
4
31 (¢).
There were points originally.
T B FRERAAS 2 e
2
32 (a).
Marco’s mark was
I 0 PR A 2 e
2
32 (b). ,
Ben’s mark was
T A E R
Because
H % 0
* agree / disagree (* Circle the answer)
*RE/ ARE CBHEE) A
Go On To Next Page
BTHEZ

NER - BEESE (2) 2



